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This exam relates to Scholastic Aptitude Test.

It consists of questions related to Science,
Mathematics and Social Science.

Each question carries one mark. All questlons
are compulsory. ‘

You have been provided with an answer sheet
(OMR) for this question paper. Darken the

correct option of each question in the answer

sheet (OMR) with black/blue ball pen.

Rough work may Be done on the blank space
provided for this purpose.

Thereisno negative marking in this test.

Do not use white fluid on OMR Answer Sheet.
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QJo1 "A ray of light goes from the medium of refractive Yol #E Yar €t fags ffa wfons famer MULIIS

index /1, to a medium of refractive index U, . The

angle of incidence is i and the angle of refraction
is r. Then (sin i/sin r) is equal to:

(nH u 2 H,
3 wu, 4) HZ/#,

QIo2 A boy sitting on the top most berth in the
Compartment of a train which is just going to stop
on the railway:station, drops an apple aiming at
the open hand of his brother situated vertically
below his hands at a distance of about 2m. The
apple will fall:

(1) Inthe hand of his brother

(2) Slightly away from the hand of his brother
in the direction of the motion of the train.

(3) Slightly away from the hands of his
brother in the direction opposite to the
direction of the motion of the train.

(4) None of these

Q193 Inthe following electric circuit, what will be value
of i, and i,?
K i )
, i e
|
{»
i = Ry i iy = i i
1 - ;o T
T )
i, = Al i i = R, i
@ "TRiR "D R +R,
R+R,. . R,+R .
27 2 i

e
(4) None of these

{o!. A lady is standing in front of a magic mirror. She
finds the image of her head bigger, the middle
portion of her body of same size and that of legs
smaller. Which of the following is the correct

order of combination for the magic mirror from
the top.

n . Plane, Convex, Concave
2) Convex, Plane, Concave
3 Plane, Concave, Convex
“) Concave, Plane, Convex

yte2

(o3

-

Yol

w3 3 TR W fAR T mu=ags B

1, 3, T AR AU T | w3 muafss
& r d 3 (sin ifsin r) faw & gareg T3 7

(1) u, (2 H,
(3) myp, (4 p/p
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QoS Ifwe increase the velocity of the body by three times
what is the change in kinetic energy?:
(1) 3times ?2) 6 times

(3) 2times 4 9 times

An clectric kettle is rated 230V & 1000W. What
is the resistance of its element?
(1) 529 ohm )
(3) 529 ohm 6))

The wave lengths corresponding to violet, yellow
andred lightsare 4 , A ,and } respectively then:

M 224,24, @ A,<A,<A,
®) A,<A,<i, @) A,<A,<A,

The image of a candle is formed by a convex lens
ona screen. If the lower half of the lens is painted
black, to make it completely opaque. What will
be the size and intensity of the image attained?
(1) image same, intensity reduced

(2) image and intensity remain same

(3) image small, intensity same

(4) image becomes bigger, intensity reduced

Qro6

5.29 ohm
5290 ohm

Qjo7

0ps

- QI09  The purpose of glass cover on top of a box-type
solar cooker is to....... ;

(1)  Allow one to see the food being cooked

(2) Allow more sunlight into box

(3) Prevent the entry of dust in the box

(4) Reduce heat loss by radiation

Q.10 A 60 kg man goes around the earth in a satellite.
In the Satellite his weight will be?
(1) 6kg ) Zero
“(3) 60N 4) 600N

Q.11 1 The Principle on which Generator works?
(1) Magnetism ) Electric field
(3) Electro magnetic  (4) Flux
Induction

Q.142 Two bodies with kinetic energies in ratio 4:1 are
moving with equal linear momentum The ratio of
their masses is. :

m 12
(3) 4l

) 1:1
“) 1:4

5\1)3 A body is thrown vertlcally upwards against

gravity alone with velocity 'u'. The greatest
height 'h' to which it will rise and time taken 't' to
attain this height is given by

1) u,2u 2 u,u
: 28 g g g
(3) v, 2u @ v,u
g 8 ' 28 g

e~
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Y6 fear fammet a8t € dfear 230V & 1000w J1 ferr
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Q.14 Empirical formula of compound is CH,0. Its
molecular mass is 60. The molecular formula will

be?
(1) CH,O ?2) C,H,0,
(3) CH,O, 4 C,H,0,
Q.1{S Which of the following ions have 18 electrons, 19
protons and 20 neutrons
(1) Ca* 2) K*
3) cCr “) S*
Q.116 Which of the following is an example of colloid
(1) Vinegar ) Milk
(3) Muddy water (4) Sugar Solution

Q.117" The total number of electrons that take part in
bond formation of N, molecule.
(H 2 () 4
(3) 6 4 8

Q.11¢ A Compound contains six C-H bonds, two C-C
bonds and one C=0 bond. The formula of
compound is
(1) H,CCH,COOH
(3) H,CCOCH,

(09
4)

H,COCH,
H,CCOOCH,

Q.1{¢  pHof0.001M NaOH Solution is
Mm n ) 10
3 12 4) 9
Q.19 Which substance will contain maximum number of
~ atoms
(1) 4gm of NaOH ) 4.4gm of CO,
(3) 2gmofH, 4) 24gm of O,

* Q.12) Which one of following should not be done

(1) Placing dilute H,SO, in a Zn vessel

(2) Placing copper sulphate in Ag vessel

(3) Placing dil H,SO, in copper vessel

(4) Placing zinc sulphate solution in a
copper vessel.

Q.122>What is the mass percentage of hydrogen and
. oxygen in hydrogenperoxide (H,0,)
(1) 5.88%;94.12%
(2) 6.88%;93.12%
(3) 94.12%; 5.88%
(4) 93.12%; 6.88%

(2)

Y1 Gf e y&-»gurst §39 CH,0 31 §rer
W U7 60 J1 3T mT A9 Jamr

(1) CH,O (¥3) C,H,0

277472
(3) C,H,0, 4 CH,0,
y.1t$. fouas faug nrfest feS' fan &% 18 fedaes,
19 g5 w3 20 fa@e= o5
(1) Ca* (2) K
(3) Cr (4) S*

y.1te fars faug fes Sorfes ©f Quruae 31
(1) frear (2) €u
(3) s uret (4) TEUS
Y.147. N,»E 9 a® a8 fedaos fus s
fég gar 8T o5
(1) 2 (2) 4
(3) 6 (4) 8
y. ¢ fex anfefea dfoa fe9 2 C-H fus, & C-C
&us »3 féxr C=0 fux 31 g ev §39 &
(1) H,CCH,COOH  (2)  H,COCH,
(3) H,CCOCH, (4)  H,CCOOCH,

Y.1¢  0.001 HS3 NaOH WS & pH F2ait
(1) 1 (2) 10
(3) 12 (4) 9

y.1re fan yevaw &9 Ag 3 frmmer vanrg 08
(1) 4gm of NaOH (2) 4.4gm of CO,
(3) 2gmof H, (4) 24gm of O,

y.121- fegt fes g &t aat agaT grater
(1) I8 H,50, & fia © ¥a3a &9 gyer
(2) 7Yd ABIT € WS § Tt @ wWIE
fée quer
(3) I8 H,50,& TUT & 9935 &9 gy
(4) fra ABE T WS & aUd © 9935 &g auer
Y.122 TEFORE UPATaATErs (H,0,) f¥9 aetsdns
w3 wraHAE € IR yfSes Hraer ugr a3 |
(1) 5.88%;94.12%
(2) 6.88%;93.12%
(3) 94.12% ; 5.88%
(4) 93.12% ; 6.88%



Q.123 In the balanced equation the value of x and yare Y.123 f&t aret amfefea mitaes fég x m3 yor i

3Cutx HNO,—3Cu(NO3),+yNO+ 4H,0
(1 31 2 86
3) 82 @ 7

1 3Cu+x HNO,—3Cu(NO3),+yNO+ 4H,0

Q.12% Alloy German Silver does not contain one of the  Y.124 firfag g 7oHs frses & faost g &t

following metal.

(1) Cu(Copper) (2)  Zn(Zinc)
(3) Ni(Nikel) 4 Ag (Silver)
| 25. Which of the following metals form an
“amphoteric oxide:- :
(1) Na 2 Ca
(3 Al 4 Cu
126. A common metal which is highly resistant to
| corrosion is:-
(1) Iron ' (2) . Copper

3)  Aluminium . “ MagnesiumA .

Q.127 Which part of the human alimentary canal, is the
site for complete digestion of carbohydrates,
proteins and fats.

(1) Stomach - ?)
(3) Large Intestine “)

Small Intestine
Rectum

Q.128 Which of the following pairs is incorrectly
matched?
(1) Ligament-yellow elastic tissue
(2) Cartilage- adipose connective tissue
(3) Lymph- fluid connective tisSue
(4) Bone-skeletol connective tissue

Q.129 Which of the following is not true about apical
meristem?
(D1t is present at the growing tips of
stems and roots.
(2) Itbrings about elongation of the stem and root
(3) It brings about secondary growth
(4) It brings about primary growth

Q.130 Which part of the brain controls co-ordinated
movements of our body, such as riding a bicycle?
(1) Cerebrum 2) Cerebellum
(3) Medulla 4) Pons

Q.13t The correct order of the parts of a nerve cell
through which a nerve impulse is transmitted is.
(1) Nerve endings-dendrites-axon-cell body
(2) Cell body-axon-dendrites-nerve endings
(3) Dendrites-nerve endings-cell body axon
(4)  Dendrites-cell body-axon-nerve endings

Q.132 Which of the following cell organelle does not
participate in cellular division.
(1) - Ribosomes (2)  Chromosomes
(3) Cytoplasm ) Nucleus

Y

(1) 3,1 (2) 86

(3) 82 (4) 7,1

et

(1) Cu (39) (2)  Zn(fre)

(3) Ni (f&a®) (4)  Ag (=)

125. 35 fofiont fF faaat ora AnEdea nrawfes

ratsesi b
(1) Na 2 Ca
3) Al 4 Cu .

126. fea i Ura fraodt o set agg A Taar -

1) nd 2 aw
(3) ASfisher  (4)  ReatEe

Y.127 HOY € U 581 @ faa3 foR féw aogoretse,
Iets »3 gadt, ydt I3t U9 A 05
(1) figer (2) & nieg
(3) <3t wiwsg (4)  Tew

y.12¢ 35 faferr fed fagd 33 o Aw Aat st 3
(1) fearie- s suatsr fey
(2) FIBA- AW A=w fey
(3) sHtar-gos w=a feg
(4) 33- fime A= feg
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(4) feT yrfevat feaw aae o5
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(1) Rdtaay (2) Aatésy
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Q.133:Gautam prepared a slide of thigh muscles of
cockroach. What type of muscles would he
observe, when he views the slide under a
microscope.

(1) Striated muscles

(2) Non-striated muscles

(3) Both striated and non-striated muscles
(4) Nervous tissue

Q.13% Which of the following statement is true about
dicotyledons.

(I) Their root system consists of similar
fibrous roots

Their leaves have parallel venation

Their vascular bundles are arranged
inaring

Their flowers are trimerous

@)
©))

“)

Which is the largest endocrine gland in human
beings.
(1) Pituitary 2)
(3) Thyroid “)
Q.126 A plant has a body differentiated into root, stem &
leaves. It also has tissue for conduction of water and
other substances, but has naked embryo. Under
which type will such plants be classified?
(1) Gymnosperms ) Angiosperms
(3) Bryophyta “) Pteridophyta
Q.137 Which part of the human ear converts pressure
variations into electrical signals.
(1) Eustachiantube (2)
(3) Eardrum 4)

Q.138 Choose the correct hierarchy in classification group.
(1) Phylum-class-order-family-species
(2)  Phylum-order-class-family-species
(3)  Phylum-class-family-order-species
(4)  Phylum-order-family-class-species

Q.13¢

Adrenal
Parathyroid

Auditory nerve
Cochlea

139. Atissue &hié,h makes up the husk of coconut and

Y.133 390 & J999 @ Uz &bt Urbor &t meets
fanr st mevete § mvimet Jo dv 3
8r & faw yare @ I awg WO
(1) udterg 3 '

(2) gdtefas an
(3) €& udterd W3 uwdt afa3 3n
(4) 3=t fem

Y134y 35 fafiprr fes faoar aas S-wiw tadt dfewr
BEt At 31
(1) feast & 7 yawat, Aewe mar =t
il
(2) Ufsnr f&9 mramtas =faet yerst
GEik
(3) ufs=fom few dBTars Sadteee 5@ 75
(4) feast T EB a5 G T 05
Y.135 HAY 9 Ry 3 I3t iree forr<t’ ot faost

J?
(1) fugetedt (2) wdtE®
(3) aelerfes (4) Qeoeiefes

Y136 fea U@ feu Ag, e w3 1T Sy Sy mume o5
few {9 U=t M3 39 ueaw @ frome Bet e
fer <t 3 vg fem i 9g= &3 o551 few g+ @

4% faw =3ar &9 wl=3d
(1) fAvESAyan (2) AFGRuIN
(3) gfeGerete (4) faSevie

Y137 W& &% e faaar gvar eumon faagr § famset
frew f&g geser )
(1) gwerts fe@e  (2) Az &=t
(3) &% & uger (49) aTEshr

Y.13¢ ‘239t F95 a1y’ €t Aot wawdet g
(1) SEtBH-RIt- masg-du-arat
(2) TEBH-mg39- Aet-gu-Arat
(3) SEIBH-RS-dB-nraga-Arat

(4) TERBH-wgST-dB-Ret-rat \

139. €3 fey 7 570w e fesar s @ T M3 fAm &

whose cells are dead, elongated and lignified is : ¥ HEa, 8Fs w3 lignified TEGQT 5|
(1)  Chlorenchyma .(2)  Collenchyma (1) FBI=TR 2) - A
(3)  Parenchyma (4)  Sclerenchyma 3) 4 ) 3 A

(40. Which. of the following is not a part of male 40, 35 fafiprt foF fagar T WY 9 59 yFes

r¢productive system in human being. yEEt T IaaAY o
(1)  Testes (2)  Prostate gland 1) Wy (2) ‘{“_??3@
(3)  Vasdeferens (4)  Fallopian tube (3) pegrg=foet @ ?B‘U%R?f?@tr

Q.14 In which of the following ways the number
123456789 can be written as the product of powers
of prime numbers.

(1) 32x3803 x3607
(2) 7*x3807 x 3607
(3) 13*x3801 x 3601
(4) 112x3813x3813

Y1k Al 123456789 & wigre ffprret S urg
Je5Tm < gu feu Jat fefamt fed faw yag
&% fafirr v rger 3
(1) 32x 3803 x 3607
(2) 72x 3807 x 3607
(3) 132x3801 x 3601

(5}, (4) 11°x3813x3813



Q.14 2 A train covers a distance of 480 km with a constant
speed. If the train runs with a speed 8km/hr less
than the original speed then it takes 3 hours more
to cover the distance. Find the speed of the train

(1)  60km/hr (2) . 40km/hr
(3)  SOkm/hr (4)  30km/hr
oz peem—s

—m—>
In the given figure, find the area of the shaded region.
Here ABCD is a square with side 10cm. The semi circles
are drawn by taking each side of the given square as
diameter (take mt = 3.14) .

(1) 97 cm? 2) 67 cm?

(3) 75 cm? ©) 57cm?
Q.154 If the triangle XYZ is distorted so that £Y is
doubled and £Z is tripled, then ZX becomes a
rightangle which of the following is a possible value

for 2Y.
(1) 75° ) 60°
(3) 45° 4) 30°

Q.14 A taxi charges Rs 75 for the first quarter of a mile
and Rs15 for each additional quarter of the mile.
The charges in rupees for a trip of d miles is
(1) 75+15d ) 75+75d
(3) 75+15(4d-1) “ 75+4 (d-1)

Q.146 A farmer has some chickens and some cows in
his farm house.If the animals have a total of 120
heads and a total of 300 feet, how many chickens
does the farmer have?

(1) 60 2) 70
(3) 80 4) 90

Q.147 If tan6+CotB=2, then the value of
(tanB)'%+(Cot0)'® is equal to.
(1) 200 @ 100
3) 150 @ 2

Q.1%8 Acircle is inscribed in a given square and another
circle is circumscribed about the same square.
"What is the ratio of the area of the inscribed to the
circumscribed circles?
(1) 1:4
3) 1.2

4:9
2:3

()
4

Y142 fear 3% 1St 480 fanit. & gat fea mves v
&% o Fet I Aaw feret 9w 8 fandt. yt
ureT Wi get I gt 3 F9s SET 3 Wi frewrer
B | I8 ST © v U3 F9)

(1) 60 fart ySturer  (2) 40 fart y=t wrer
(3) 50 fart ygturer  (4) 30 fant yat urer

Y143

—0hi—

fe3 ag 9379 fevu sfenrew fomfes o dgoes
y3T 9 | fe? ABCD feqr =gar I fanet o9 377 10 .
At &1 2391 € g § fou irad wiew S99 frd e
TS| (n T U 3.14 B9)
(1) 97 (2) 67 Atz
(3) 75 & vl (4) 57 vt

Y1y 7 AXYZ R 2Y § EaeT w3 L2 % f3are aus
&8 £X BT 'Y AHGSE 92 '@ 3t I fafour
feg faogr 2y e vy § maer 37
(1) 75° (2) 60°
(3) 45° (4) 300

Y145 feq Savt o9a i el @ ufod 9 foi met
75 gue faarfen Bt I w3 »ard g9 Juret viw
BT 15 gu? fagrienT g et 31 get o’ im
wet fagrfen gfnr feg §23ar
(1) 75+15d (2)  75+75d
(3) 75+15(4d-1) (4)  75+4(d-1)

Y.1%¢ e fams 8% a9 97 W3 gy aret 95| A9

A&t @ fraat €t farest 120 w3 U9t &t fare st
300 J2 3t faws a& gfowmt ot farest of 7

(1) 60 (2) 70
(3) 80 (4) 90
Y.1%7 A9 tan6+Cot0=2 J It (tanB)'®+(Cot0)'% @r
5 52
(1) 200 (2) 100
(3) 150 (4) 2

Y.148 fed <91 € %29 grret & AUSH qaer Ja9 fufomr
farrr &1 T9ar & 5799 finget § Swer Yo7 fufonr
faPHT 3 | %E9® Y9 T UI9eH T T8 Jag &

U3 ¥ MIUT U3 a9
(1) 1:4 (2) 4:9
(3) 1:2

(4) 2:3
(Y '



Q.1 What is the set A if
A={x: xeR; x>=9 and 2x=4}
(1)
(2) Finite set with two elements
(3) Singleton set
(4) Empty set

Infinite set

Q.150 In the figure, the value of x is.

(1 36° () 18°  (3) 54° (4) 68°
Q.15 In the given figure, the value of x is.

30

34° >45

8 C D
(1) 45° (2) 34> (3) 64° (4) 109°
Q.152 The value of (. 423.
419 419
M 599 2 990
423 421
3 Tooo @ 599

Q.153 A man buys a pair of shoes for 10% less than its
original value and sells it for 10% more than its
original value. His gain or loss percentage is.

(1) No profit, no loss
(2) 20% profit
(3) Less than 20% profit
(4) More than 20% profit
Q.15% What are the real roots of 22X’-7><+5 =].
2
z -15
(0% @ -1%
2
d 5
@ 3 @ L%
Q.185 The probability that a non-leap year has 53 sundays is.
] 1
M 5 @ 3
® 3 @ 3

Y.149 AHT-A fam 39t &7 T RIT A={x: xeR; x’=9 M3
2x=4}
(1) &I AYT
(2) foreatiar € wAF THT
(3) feafaor ayar
(4) 4Bt AYT

y.150 939 &9 x & & J=ar|

)
(1) 36° 18°  (3) 54° (4) 68°
q.lstfes‘rariff%saf’evAx?mﬁéarl

30

34° 45

B c D
(1) 45° (2) 34° (3) 64° (4) 109°
q.15z((:')423 E H® 31 . 419
999 990
(€) 423 ) o
1000 999

y.153 fea mmet & g3bat o fea A9 QFE »iAw
s 3 10% e 3 diferr w3 G »ins is 3
10% B9 3 29 fegm 1 9n &t &9 % 7F T3 %
at gt ?
(1) &F aet &9 3 & It T
(2) 20% &'F
(3) 20% 3 W &g
(4) 20% 3 ¥U B

Y154 H¢-as=| & IHIfeT Y& TS|

2
) 03 @ -1%

2

z 5
@ 3 @ 1%

y.155 fea wdig BlU A few 53 AT e

& freaT o T2t 2

1 1
O @ 3
. 2 . 2
® 3 @ 5

n



Q.15% What is the unit digit in. y.156 Afem (6374)7%(625)*x(341)*' & fearet

(6374)'* x (625)*'7 x (341)*" AO'S T Ha Jg<dr
(h 0 (2) 2 (1) 0 (2) 2
G 3 @ 3 (3) 3 (4) 5
37 1
%; =2+ — i [ER |
3 L N XA
Q.I571f A +_"+ 1 where x,y, z are natural Y167 AT y+ I #e far xy, 2
y z
z
numbers then values of x,y,z are yrfgad ffimr=t 95 3F xy,2 € i &t 32ar)
() 125 @ 152 (1) 125 (2) 152
(3) 52,1 ) 2,51 ‘ (3) 521 (4) 25,
Q.15€ Find the value of 3/, /0.000064; Y.152 3/1/0.000064 T HS uU3T ol
(1) 0.02 ) 0.2 (1) 0.02 (2) 0.2
(3) 0.08 4) 0.8 (3) 0.08 (4) 08

Q.152 The Ie.ngth of the shadow of a tree is ,[5 'times y.159 fex Touz & waee &t Huet woug & Quet
the height of the tree. The angle of elevation of c Wﬁl@ﬂ'ﬂﬁgﬁﬂ’?" e

the sun is.
(1) 30° ) 45° (1) 30° (2)  45°
3)  60° @  90° (3) 60° | (4)  90°

Q.160 In the given figure, PQ and PR are the tangents to  y.160 fe3 §& 39 few PQ M3 PR &9 O T8 Jag
the circle with centre O such that ZQPR = 50° gt AR JYT=T 9% | AET ZQPR =50° 3@ 3+
then ZOQR is equal to ‘ ZOQR 8T HY J=aI|
(1 2s° 2 30 (1) 25° (2)  30°

(3) 40° ) 50° (3) 40° (4)  50°

‘ = A2 ¢ be? » ﬂ
Q.16} Who led the procession of workers to the event Y141 7€ gu 1G9 Yot wIe @ wes st

‘Bloody Sunday’ in Russia? W_é} ATt 3 F four it 7
(1) Gapon ) Lenin (1) 3 (2) Bfss
(3) Kerensky @)  Stalin (3) sawat (4) wefes
Q.1462-Who hosted Congress of Vienna? y.162 femmaT atgren e HFE‘?;‘?E At ?_
(1) Bismark (2)  Nepoleon Bonaparte (1) W (2) W gaTurge
(3) Voltaire  (4) Malternich (3) BT (4)  Wedfasy
Q.1:63 Amritsar was founded by. Y.163 %h{3nag €t 317 fam g7 & St ?
(1)  Sri Guru Angad Dev Ji (1) Fﬁ'a_@’;ﬁl?@EFﬁ
(2) Sri Guru Amar Das Ji (2) At 3T »HIeR ST Ht
(3)  Sri Guru Ram Das Ji S (3) At Ig H W At
(4)  Sri Guru Gobind Singh Ji (4) At 39 difee finy #t

(8)



Q.16% Annexation of the Punjab by the British in
(1) 15 August, 1947 A.D.
(2) 26 January, 1950 A.D.
(3) 29 March, 1849 A.D.
(4) 21 February, 1849 A.D.

Q.185 Read the following statements and choose the
correct option,
(A) Allahabad pillar inscription is written

in praise of Chandra Gupta-I

The Vishnu temple at Devgarh is

dedicated to Lord Vishnu.

(1) Ais false but B is true.

(2) Bis false but A is true.

(3) Both A and B are true.

(4) Both A and B are false.

(B)

Q.166 Which of the following is not correct matching,
(1) Gautama Budha - Tathagat
(2) Vardhamana - Mahavira
(3) Ashoka - Priyadarshi
(4) ChandraGupta-I - Napoleon of India

Q.167 Match the events and movements given below
with the name of the persons associated with them.
(a) Formation of Muslim League (i) Ali-Brothers
(b) Partition of Bengal (ii) Lord Curzon
(c) Jallianwala Bagh Massacre (iii) General Dyer
(d) Khilafat and non (iv) Agha Khan
co-opertion movement

Which is the correct matching
)a-(i), b-(ii), c-(iii), d-(iv)
2) a<(ii), b-(iii), c-(i), d-(iv)
(3) a(iv), b-(ii), c~(iii), d-(i)
4) a<(iii), b-(iv), c-(i), d-(ii)

........... carried away the peacock throne of Shah
Jahan to Perssia.

(1) Mohamad Ghaznavi )
(3) Nadir Shah “)

Q.169 Which Guru ordered Banda Bahadur to avenge
Mughals at Nanded Sahib?
(1) SriGuru Gobind Singh Ji
(2)  Sri Guru Teg Bahadur Ji
(3)  Sri Guru Hargobind Ji
(4)  Sri Guru Arjan Dev Ji

Timur
Balban

u1e‘£/uwa€"—3maraﬂ+€7awa??rfmf?

(1) 15 »@MI, 1947 .
(2) 26 A&=GT, 1950 .
(3) 29 W39, 1849 &,

(4) 21@3<dt, 1849 gt

y.165 %ﬁw&mu?m%mfeme’rézaﬁl

(A) fesrarare &y frsdy deg-gug ufod
& yimr &9 o0 a1 o%)

(B) fe@ary fed fewg H&’aaamﬁnt
& AU 31

(1) AJB3 I U9 B ATt )

(2) B3B3 T U3 A RSt 31

(3) AW3 B ¥& At 351

(4) A ™3I B & I3 TS|

Y164 35 fofrnt foF faas gy (ge) s adt ager?

(1) 334 &4 - Igarz

(2) TIONS - Wity

(3) »Aa - fynregnt

(4). €T U1 - 393 T 5UEtHs

q.1e7aawuwwwnm€f@a#m

7% fonadti &% ot g7 iw &3
(1)  wAfsy Star &t maruar (i) et g9r
(2) &Ors et &m (ii) BT qIHE
(3) wfeniersT gar (ili) &3I% 3feg
7 I3
(4) fusea w3 iz (iv) mmar ¥y
TI3F MEBS
faosr g mat &
Da-(i), b-(ii), c-(iii), d-~(iv)
2) a-(ii),  b-(iii), c-(i), d-(iv)
3)a-(iv), b-(ii), c-(iii), d-(i)
4) a~(iii), b~(iv), c-(i), d-(ii)
Y.168 H™T ATS T HI G4t frwmes ygrbsr _
.................... B famum|
(1) Hfoye aIms<t (2) 39
(3) &9 7g (4) wBux
y.169- fsmaraxmmﬁmfeuww&{aw
3 gesT 8T wet fagr?

(1) 7t g3 Sifge finw 7
(2) At 39 Jor goreT H
(3) #t 39 gIdifere #

(4) Wt IF »igws = 7

-



e

770Kaf1MafxwasagamSt 170, T3 e fane fusTe i?

Qi (1)  Democracy e Capitalism - (1) BadFee (2 e
(3) Communism (4) - Socialism (3) AUETEEEE () AT

. Whowas'GmseppeMazznm'? ' (74 ﬁ[@fﬂ'lﬁ)-m?ﬁ gl

a - AnltalianEconomist (1) feestern@ERAIE
(2) - AGermanNationalist (2) M?W
(3).  AGerman Professor (3) vOHEETURAT
() AnlItalian Natlonallst 4) fgzzfr e*afmaf?ﬁ

inj E ﬁrst cement plant of India was estabhshed at:

@.

Mumbai

a.

Ahmadabad

-
o ——ra i — cme e

7%, . mwmmmﬁ%mwm? ’

. : (1) Yt 2)  wfoerae
(3)  Madurai (4)- Chennai (3) oale @)  a=®

Q.)73 Whichofthe (.‘(.)Ilow'i'r?giﬁaﬁrs‘trvi'al towns is located y.173 %Wféﬁmmmwm |

on the Chhotanagpur Plateau? . dys9 I Rz I?

(1) Chennai 2) Ranchi (1) 9%t (2) gt

(3) Srinagar - (C)) Sundernagar (3) HaaE (4) fredead
Q.NYy Thedominant type of irrigation in Peninsular India Y17y Syt g9 f—e-g 7g T ygrewst fimmet e

is by:- Aus fagsr 37

(1) Canals 2) Tanks

X (1) vaaf (2) 35

(3) Wells 4) Sprinklers (3) ¥ (3) fea™ I98 T AUE
Q.TI< In respect of which one of the following crops, y.15¢ a3 f&g gat g3t e 35 fauht enst

the Green Revolution in india had limited impact?. f&F fan eAg I Ag S We yIe fiur ?

(1) Maize ) Wheat (1) ¥eit (2) qea

(3) Rice (4)  Pulses (3) 35 (49 =t
Q.1776 The rocks, through which the water seeps very y.17¢ frogt et fed R 2R A o aer

fast, are called as:- guat & at faar "feT 37

(1) Mushroom Rocks (2) Hard Rocks (1) GaawT Jerat (2) AT Jerst

(3) Igneous Rocks (4) Permeable Rocks (3) ;){BT-KT st (4) WAnETT Jerst
Q.177 Which .sta't,e of india has the lowest density of y1 773133?“3%@@@“%@3?

population’ (1) "Eao8 WeR  (2) QI wEw

(1) Arunachal Pradesh (2) Uttar Pradesh .

(3) Punjab (4) Assam (3) U=y (4) ™
Q.17¢ Stalactites, Stalagmites, Pillars and Caves like y. 178 REBATERE, HeBaMTENe, 8H, IR FTG AT

features found in the Limestone region are formed froa fa For e fewma fé? urE A 5, 35

by which of the following? fsfiont 49 fam a7 w22 0% 7

(1) Wind (2) Snow (1) =T (2) WE

(3) Underground water(4) Animals and birds (3) Q‘ﬁ J5mT uret (4) UZ" w3 et
Q.179 ‘Active’, ‘Dormant’ and ‘Extinct’ are the types Y179 fafenmls’, ‘yauz’, ‘g8 38’ fan et

of famit & ?

(1) Mountains ) Plateaus (1) ygg3 (2) Vo<

(3) Volcanoes 4) Cyclones (3) A=TEY (4) JgaeT3
Q.180 Which of the following is the main Rabi crop of Y.1%4 I5 fafint &9 Img & Wy o3t =ns fHUS‘T

Punjab? 32

(1) Rice (2)  Maize (1) 9% (2) et

(3) Wheat “@ Groundnut (3) T (4) Harest
Q.19 On the leaves of which tree, the silk worms are Y¥.18/ %m‘f & aifanrt § far G2 @ Ufamt 3 urfemr

reared/fed? e 37

(1) Neem (2)  Mulberry (1) & (2) wfgs

(3) Acacia 4 Mango (3) fd=e (4) e

\G?;. Whichtypé ofsoilis also knownas'Regur Soil"? 182. fanfamratfifd &3 ﬁ{f‘e‘?’e‘?faa*ﬁ*?.fﬁ? -
(1) Black Soil (2) RedSoil (1) Emﬁﬁfz"f 2 zsfia
" (3) SandySoil (4) Yellow Soil (3) @A (4) umthid

(1o}



Q.1¢3 Which of the following freedom is not available to
indian citizens?

(1) Freedom to criticize the govt

(2) Freedom to start a movement to
change the government :

(3) Freedom- to participate in armed
revolution against the state

(4) Freedom to assemble peacefully and

without arms,

Q.184Who among the following is a part of political
executive?
(1) District collector
(2) Director general of police
(3) Secretary of the ministry of home affairs
(4) Home minister

Q.18S Which of the following statements about the
judiciary is false?
(1) Judiciary can strike down a law if it goes
against the provisions of the constitution
(2) Every law passed by the parliament
requires approval of the judiciary
Judiciary is independent of the exccutive
Any citizen can approach the judicial
courts ifhis right is violated.

3
“)

Q.1€6 Among the following, which two subjects are
included in union list, on which centre government
can make law

~ (1) Defence and Foreign Affairs
(2) Banking services and Police
(3) Marriage and divorce and Agriculture
(4) Post and Telegraph Department and
Education

Q.1€7 In which institution 1/3 seats are reserved for
women?
(1) In Lok sabha
(2) Instate legislative Assemblies
(3) In Rajya Sabha
(4) Institutions of local self government

Q.188 When and under whose leadership was Bahujan
Samaj Party (BSP) formed?
(1) 1982, Mayawati
(2) 1984, Kanshi Ram
(3) 1985, Mulayam Singh Yadav
(4) 1986, Bhajan Lal

Q.184 Which among the following is not a part of indian
Preamble?
(1) Secularisni (2) Socialist
(3) Sovereign, Democratic (4) Federalism
and Republic

Y183 35 Tafe3 pIsaset fed faust pygasT ot
sratfear § yuz &3t 37
(1) RIA'd € MB9sT q9& ©F AIIIIT
(2) mgsmsﬁmaw@zé
EECEM
(3) whﬁuafewﬁefeeﬁvma?g@m
(4) AvEt 3 fast afenret 3 fedge T
A33d37
q.wyﬁ‘aggswmfeﬁa‘wmm?
?
(1) fasr nfuarst/ adaes
(2) sfedaed Aaa® We ufsn
(3) aifg H3T8 ©F RA3T
(4) arfo st
Y185 35 &3 fomfurfaar fifat qust fes' fagar
G5 IBI I?
(1) femiuwfaar farr & €7 adx § &©
59 AaSt § 7 Afews wigHa &at §
(2) ARE EMT3" U'H I3 38T T7ds
ﬁvwfaa*e?uavmf’rmﬁa
(3) faniufaar, awfsa*s‘nssa%
(4) mmmmwm
J A9 GRT wifgarst o @vwer st A2

y.186 d5 fafimrt feg faoa € fei i gt @ widis
Qe 95 fam 3 dedt AT § Tés TEET
= offaarg 2
(1) gIfert w3 feewt s
(2) & Aer w3 ufew
(3) forg 3 Ima W3 43taT=t
(4) 3x I3 fegvar M3 fifusr
y.1¢y fan fmar f&9 wiazt et 1/3 wtet austnt
it wEHT & 7
(1) 8 AaT few
(2) o7 feus Aeer few
(3) 39 Ag™ fI9
(4) FESE AR-H™A& ohit frget &9

12340

Y.199 9gR& AH'H UTget € rausT ae w3 fan
g T8 SIS aret ?
(1) 1982, Hfem=e3t
(2) 1984, IHT I
(3) 1985, WaTfew fiwr gre<
(4) 1986, WS TS

v.1epfegst fes fausr gast RaresT er fdAr &t a7

(1) gaH fealuzr (2) MAETt
(3) yg3r s, Ba336t, (4) fuse

)



Q.19 ¢ Which among the following is the biggest and
strongest obstacle in the way of National
Integration of india.

Linguistic policy declared by the government
Financial crisis faced by the National Integration
council

Formation of states on the basis of Language
Lack of strong and sound National Conciousness.

(1
(2)

)
(4)

Q.19) Which among the following is not a part of right
to information Act 2005.
(1) Ask any question from the government
or seek any information
Inspect any government work
To punish any government official or
department
Take samples of material of: any
government work get them inspected

(2)
3)

“4)

19 Under which Fundamentai nght in Indlan
Constitution 'Right to free and compulsory

l
\

Education' hasbeen given ?

(1) Under-Right to equality

(2)  .Under—Right against exploitation

(3)  Under—Rightto Religious Freedom
"~ (4)  Under-Rightto Freedom

Q.143 Which of the following neighbouring country has
better performance in terms of human
development than india?

(1) Srilanka (2) °  Bangladesh
(3) Nepal 4) Pakistan
Q.14 Consumer Protection Act’ was enacted in.
(1) 1982 (2) - 1984
3) 1986 () 1988
Q.195 In terms of GDP the share of tertiary scctor on
2003 is........
(1) between 20 to 30%  (2) between 30 to 40%
(3) between 40 to 50%  (4) between 50 to 60%
Q.lg6é...... is authorised to issue currency in india
(1) Commercial Bank
(2) Reserve Bank of India
(3) NABARD
(4) Finance Companies
Q.19 7 Literacy rate in Punjab according to 2001 is.
(1) 80 (2) 70
(3) 60 4) 50

Y.190 393t aHedt Bdlade € 7 &9 Ry I &5t
ga<e faoat 37

AISTd TB WiRg Fmvet s13t

et Eataae ufare & us <t we

- FHT & MUY 3 g O §e39

TUMT %I HAEST THest 93§53 & we

(1)
(2)
(3)
(4)

Y.19) FE&T T mifaamg Wae 2005 mats 35 fafimt

oS at Avw &at T 7

(1) RIS 3 €t <t yas Yger 3 weaadt
THS TI&T

(2) faR AaaTat & &t AtT VI3 FaaT

(3) fyﬁnw*a’rmfua*a’rwfe—g"argw
Cral

(4) fai mearat aw Addt Aus Yz 9
79 Faget

ﬁﬁﬁfsarmfuw?mmai?fawfr?
(1)
(2)
(3)
(4)

ME3T e nfaaramats
uIfia FE3aaT & mfuara midts
A3393 € ifuara mdts

u1q_gaa‘f$fuwf€vfa:r§aw€rm€?mfu’f
feawammfevau‘twuwa*a‘f&
1) gt &ar (2) o

bGP are)
(3) s (4) yfaras

Y19 ‘QUITIT AIUE Wae’..... B Iewr /it
(1) 1982 (2) 1984
(3) 1986 (4) 1988
y.1es mzoosmmw@mwfeva‘lﬁ
439 © fonr...... seer g1
(1) 203 30% fesama (2) 30 3 40% fegarg
(3) 403 50% fegara(4) 50 3 60% fegarg

Y.114993 <9 qart Ardt 95 & mEadt.. &% T

(1) |yda &
(2) forg= & »ie fesPur
(3) a793F
(4) &3 quahyt
Y.147 UAg €1 A4g3T €9 A% 2001 € WEAT T
(1) 80 (2) 70
(3) 60 (4) 50

d)

192423 3 st fitfeonr & wifgars® 979t Afeors @
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)9.8 Which of the following is the correct é'quation

(1)
2
€)
4)

~ ¢

Savings =Income + Consumption

* Savings=Consumption—Income

Income = Savings + Consumption

Consumption=1Income + Savings

(94. - Which group belongs to all direct taxes? :

@
@)
3
4)

Income tax, Gift tax, Sale tax
Income tax, Wealth tax, Sale tax
Gifttax, Wealth tax, Sale tax -
Income tax, Gift tax, Wealth tax

200Which is the Central Bank of India ?

(1) SBI ' (2) RBI
(3) HDFC 4 ICICI

pg. Isfafont fe faaat itaas B 37

(1) 93 =-nes+gusar
(2) €9T-QuII-wnEs
(3) wWES=-S9I+CGuIar N
(4) QUSI-mMHES+H9T

—— e — R
.

195, 35 fafir fS fagaragu i gt sr 7

(1) WHIE I3, QU e, ITAT
. (2) WMHESTT, U5 AT, <IAT

(3) GUTTIL, TSI, IIAT

(4) MMHEZTT, Quawaa r X

wome*faasfﬁamﬁ‘a&?

(1) WA= et (2) "g. gt . mret. ‘)
(3) We.Foae At (4) e HLarEr wret

N



